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SOCIAL WORK

Paper II

HUTSTRTE
goatent 11

Time Allowed : 75 Minutes]
: This Paper contains Fifty (50) multiple choice questions. Each question

[Maximum Marks : 100

carries Two (2) marks. Attempt All questions.

s N LN
gd gy I Gl

: 1 YU THYT UATE (50) SgUi U STRd. Wedsh YAl €I (2) T 3T

In which category will you place

peer support group of alcoholics ?

(A) Therapy group

(B) Self help group

(C) Support group

(D) Developmental group

While planning an outing with her

recreation group, the Student Social

Worker (SSW) suggested a visit to

the Planetorium. The group

members, after discussing several

options, decided that they wanted to

visit the aquarium and then take a

bus ride along the sea shore.

Which of the following principles of

Group Work guided their decision

making ?

(A) Principle of guided group
interaction

(B) Principle of self-determination

(C) Principle of purposeful worker
group relationship

(D) Principle of progressive
programme experience

TEde GerAdl eE Sl Wl
Foedl el T A ?

(A) SUER e

(B) IR T

(C) dHrerzdar e

D) fawE T

TSR foeedi e AAReH

TS TRe™ STuamEral ¢ aremong’ 9

gaacl. dF TEdid qesdrEl 3@
TR TH3Tdl AT 9 T3 7l

L a o [ La NN
A (oD SIU4qI=] s=9l GRIdl]. d<el

TeAeTUeh! TTehrITeAT STl T T
Frofg-ufrad AreeH Ha e ?
(A) ITTESIed TRerde STaiehiEe e
(B) @& ol d

(C) =qqvl ¥qs onfur wqgsrEhat

YT d<

(D) wuH fawfaa gom=ar wEwa
YA T
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Tuckman reviewed over 50 studies
and concluded that groups go
through predictable development
stages.

Choose the correct order in which
these stages occur :

(A) Forming — Norming — Storming

— Performing - Adjourning
(B) Norming - Forming -
Performing — Storming -
Adjourning
(C) Storming - Norming -
Performing - Forming -
Adjourning

(D) Forming — Storming — Norming

— Performing — Adjourning
A student social worker was leading
a group in a community setting.
The group members wished to equip
themselves with interview skills.
Write job application, select
references and so on.

The group lasted till all of them got
jobs because :

(A) The group developed out of
common interest

(B) The members lived in the same
locality

(C) The members were of the same
age-group

(D) The members liked the group

worker
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The group worker in charge of the
adolescent girls’ group in an agency
was skillful in helping the
individuals in the group to accept
each other, to mingle in the group
and to achieve the common goal of

the group.

On the basis of the above, tick the
skill possessed by the group worker :

(A) Skill in establishing purposeful

relationship
(B) Skill in participation with the
group

(C) Skill in dealing with the group
feeling

(D) Skill in analysing group
situation
‘Listening’ in community
organisation is @ .........ccceevvenee. .

(A) Problem solving skill
(B) Relationship skill
(C) Political skill

(D) Professional skill
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A community organizer is working
with the tribal community to
establish their rights on the forest
plots they have been cultivating for
years. Her tactics in achieving this
can beet be described in the following

terms :

(i) Researcher

(z1) Negotiator

(iii) Advocate

(v) All of the above
Codes :

A) @

(B) (i) and (ii7)

(C) (@) and (1)

(D) All of the above

Which of the following is famous for

the slogan “Personal is political” ?
(A) The Black Panther Movement
(B) The Women’s Movement

(C) The environmental Movement

(D) The Movement for Indigenous
Peoples

7.
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10.

11.

Assertion (A) Revivalist
movements have gained strength in
the globalised contemporary society.

Reason (R) : Some communities are
becoming more parochial and
conservative in their outlook.

Codes :

(A) (A)is true and (R) is the correct
explanation of (A)

(A) is true but (R) is not the
correct explanation of (A)

(A) is not true and (R) is not its
explanation

(A) is not true but (R) is true

(B)

(C)

............................ is not an approach
to community organization as
discussed by Rothman ?

(A) Social Action

(B) Social empowerment
(C) Locality development
(D) Social planning

Out of 100 sample units (60 male,
40 female) a researcher selected 30
male and 20 female total 50 sample
units, what kind of sampling
methods has he adopted ?

(A)
(B)

Disproportionate sampling

Stratified proportionate
sampling method

©)

Disproportionate classified
sampling

(D)

Stratified random sampling

10.

11.
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12.

13.

14.

A social worker wishes to undertake
an in-depth study of X’ company
CSR project’, which research design
is more appropriate ?

(A) Experimental

(B) Case-study

(C) CSR research

(D) Social work research

Example — water problem — baseline
survey — awareness about
conservation — cost-benefit of
conservation behaviour — door to
door campaign, which research
design will you suggest ?

(A) AB-single subject design
(B) A-only intervention design
(C) ABCD-multiple component

design
(D) ABDA-multiple baseline design
Assertion (A) The ‘null’

hypothesis means no relationship.

Reason (R) : There is difference
between the groups being compared.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A)

Both (A) and (R) are true but
(R) 1is not the correct
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

©)
(D)

12.

13.

14.
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15.

16.

17.

18.

‘Most people agree that globalization
is important step. Do you agree ?

This iS .cceeeveeereereenne type of question,
in research misleading.

(A) Question

(B) Progressive question
(C) Mismatch question
(D) Leading question

Which of the following organizations
looks after the credit needs of
agriculture and rural development
in India ?

(A) NABARD
(B) FCI

(C) IDBI

(D) ICAR

Which of the following is not a
feature of good governance ?

(A) Transparency
(B) Red tapism
(C) Accountability
(D) Rule of law

A budget is essentially a statement
of :

(A) Identification of targets to be
achieved

(B) Surplus or deficit of the previous
budget

(C) Estimated revenue and
expenditure over a period of
time

(D) Allocation of funds in various
heads of expenditure

15.

16.

17.

18.
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(A) T=Te

(B) TH.H.374.
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(A) URefefar
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19.

20.

21.

22.

Social Insurance does not include :
(A) Unemployment benefits

(B) Pensions

(C) Disability allowances

(D) Ex-gratia payment

When existing programmes, policies
and expenditures are considered as
a base for the new policy to be
formulated, it points towards ?

(A) Incremental model
(B) Elite model

(C) Rational model
(D) Process model

Social justice is the balance
between :

(A) Individual rights and family

(B) Fundamental and

judicial system

rights

(C) Individual rights and society

(D) Individual rights and social
control

Under the Companies Act, section
135 is related to :

(A) Corporate charity

(B) Corporate social responsibility
(C) Company responsibility

(D) Corporate citizenship

19.

20.

21.

22.
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(A) SafFash gFh omfor sed

=14,

(B) HAYd Bk STV AT SHaEel
(C) Safadeh gah omfoT oSt
(D) Saferer gk 3Tfor TrHTfSIeh a0

FUAT RIS, HAH 135 JEITIR]
FHIME Fafem e ?

(A) FMYERSA BN SHEH

(B) SENERIE AN T

(C) HUArEl SAEER]

(D) ST TR
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23.

Assertion (A) : The records of
conviction of the juvenile are
removed after the expiry of the
period of appeal or after a reasonable
period as prescribed under the rules.

Reason (R) : Juvenile who has
committed an offence and has been
dealt with under the provisions of
this Act shall not suffer any
disqualification attached to the
conviction.

Codes :
(A) (A) is true but (R) is not correct

(B) (A) is true and (R) is correct
explanation of (A)

(C) (A)is not true, but (R) is correct

(D) (A) is not true and (R) is
correct

23.
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faeam (A) : TS @I a1d
TR il & J] AFToar
ALl FUeAHa fohal Hafya
ST IR STHT hIATAH TICHR I
EETIESIRIGE

0T (R) : =1 AT =R TERT =
HAdl ® S ST AR AT
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Thdih :
(A) (A) TR T g (R) T I 3T

(B) (A) s 3G (R) 7 (A) & 3T
TR B

(C) (A) ® 9 3M W (R) ¥ TN
Sl

(D) (A)  sRIsR & 991 (R) & e
Sl

24. Information Technology Act, 2000 | 24. HT]%T-ﬁ. s efaftEd 2000, 3@
also deals with .......c.cccceuvueecee crimes 0'."“"““"\""'““ BIEATE 3Tl et
: Hafed amg ?
(@) Cyber terrorism (@) TR SRR
a
(b) Cyber security ®) e
(¢c) Cyber frauds e e
(d) Hacking d) R
Codes : Hehdich
A) (@) (A) (@)
(B) () (B) ()
(C) (@), (b), (o), (d) (C) (a), (®), (), (@)
D) (e) D) ()
11 [P.T.O.



25.

26.

27.

Under which of the following Acts
NGOs are not registered ?

(A) Public Trust Act, 1950

(B) Societies Registration Act, 1860
(C) Indian Companies Act, 1956
(D) CSR Act, 2015

The Lokpal and Lokayuktas Act was

passed in the year :
(A) 2011
(B) 2012
(C) 2013
(D) 2015

The Right to Fair Compensation
Land
Acquisition, Rehabilitation and
Resettlement Act 2013 (Amended)
deals with :

and Transparency in

(@) Compensation

(b) Acquisition

(c) Rehabilitation

(d) Re-development
Choose the correct option :
(A) (a) and (b)

(B) (@), (b) and (c)

(C) (@) and (d)

D) (a)

25.

26.

27.
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eI SR hIFE Adid o i
Tl AU B ATEt ?

(A) HrEsIe favasd e, 1950

(B) e[ Hieult eI, 1860
(C) 9RAE et Afaf=H, 1956
(D) Hl.ug.emR. erfufsam, 2015

TR STVT TR ShTaG v ol
I el ?

(A) 2011
(B) 2012
(C) 2013
(D) 2015

= R Afeswr sfu
SITHAYRO S IRERIhdT, aifeerdt ST

qFaEd QT 2013 (&) HIMA
frreia e ?

(@) ThEE TR
(b) STEURY
(c) Tared

(d) Afdm™
g wE faer

(A) (a) =0 (b)
(B) (a), (b) 3 (c)
(C) (@) U (d)

D) (a) B
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28.

29.

What is “green revolution” ?
(A) A movement to save trees

(B) A movement to increase food

production, specially in
developing countries
(C) A movement to reduce

carbon footprint

(D) A movement to save the

environment

The following are the indicators of
quality of life :

(@) Health care

(b) Cost of living

(c) Oil prices
(d) Crime rate

Choose the correct option :
(A) (a) and (d)

(B) (a), (b) and (d)

(C) (a) and (c)

D) ()

28.
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(A) J& drafauarEl Fedes

(B) fowroa: famemsiar UM 7=

Y1 IAEAT 918 iU Tddod

(C) B hieH SRS FHIOT hHl

C D IR ) o BT [

(D) THER0 IrEEUR Hosed

29. TUEYU Stae v ¥ omRd

(c) daren TRt
(d) T JE
e A e
A) (a) 37T ()
B) (a), (b) 3T (d)
(C) (a) 30T (c)

(D) ()
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30. Assertion (A) : Globalization has

30. faegm (A) : SFIfdehieRTomg s 1= 31for

drastically enhanced the access to
knowledge and services, and further

accelerated social development.

Reason (R) : Barriers in technology

transformation have been

liberalized.

Choose the correct option :

(A) Both (A) and (R) are true and
(R) is the correct explanation of

(A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (R) is true but (A) is not true

(D) (A) is true but (R) is not true

T ATROITAT GETHE YoE JHIONG IG5
A 378, 9™ FrHTfSleh  faehTar=
i AfeeR Taeiial HAelet 3R

HRUT (R) : I gRadasid
TAfahdaHd TS L FTeld.

gk FAE fEer

(A) (A) a7for (R) St & IR 3Ted

O (R) & (A) 3 STF TR
S

(B) (A) afr (R) S =R 3
g (R) ¥ (A) 3 3% Tt
T

(C) (R) & a=X 3T W0l (A) § ¥
Sl

(D) (A) § IR 38 907 (R) T TH
3T

14



31. Arrange the sequence of approaches :

(A) Welfare, charity, ecological,

clinical, radical

(B) Charity, welfare, radical,

clinical, ecological

(C) Charity, welfare, clinical,

ecological, radical

(D) Welfare, ecological, charity,

clinical, radical

APR-20217/11—B

31. gfesmmEl I4rg HAIR WISl |EM

(A) HITUT, THEYH, YO aoaeh,

oo LY

Fafehcarcen, daehi™

(B) TTHEMH, &HedTol, JIHRT,

faSll o

FeafehcaTcHe, qaaRoTiass

(C) Ty, wmearv, fafecarms,

qHieRuToo ek, JEhY

(D) FATI, YATAROTIISE, STHEH,

fafercdrcAes, JEhl™

32. Assertion (A) : Social work is a | 32. faema (A) : TUNHE B UGS
practice-based profession a9 2 .
Reason (R) : It promotes social HRUT (R) : O QIS THA e
cohesion and deals with problem TeTET 28 T84T Sue Sreavaneh frted
solving. TR,
Codes : TUrgy
A) Both (A) and (R t d :
(A) Both (A) and (R) are true an A) (A) ST (R) S B
(R) is the correct explanation of R
N R) T (A) I TTFH TIEH B
(B) Both (A) and (R) are true but (B) (4) ST (R) <t T T
(R) is not the correct (R) & (A) ¥ 79 THLHT AL
explanation of (A) (C) (A) T IR 318 I (R) T IH 3T
(C) (A) is true but (R) is false D) (A) & g 3R Tg (R) § TN
(D) (A) is false but (R) is true 3E.
15 [P.T.O.
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33. International Federation of Social

33. MIfSe HEAR AT o

Workers recommends :

WeAyq T FTPRE ol 38 ¢

(z) Respect for the equality, worth

. (i) HAHE! THEA, "E G
and dignity of all people

(ii) Belief in human potential (i) Tl WHAE ST
(zi1) Solidarity with those who are

i) afeq, e, famaa, sgfem,

disadvantaged, poor,

(aY

TSUYIRI ool 3Laiad

marginalised, vulnerable and

-~

oppressed. q Wrefteieh! &E qeiad ?

What does the above indicate ?

(A) GHSTRTET=T oo

(A) Values of social work

~

(B) HHSIREET dw

(B) Principles of social work

OR:LISEIRIEINGE]

(C) Techniques of social work

£ o o ~
(D) Major concerns of social work (D) FEShEEGE @ feudre g8

16
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34. Multiculturalism can be described by | 34. JgHERAAR @IEcdeh! HIMAT TER
the following : U Al T ?
iti f 1 1 ‘e
(@) Opposition o cultura (@) WiEhfqe qEEERME foaly
imperialism
(b) TSGR fade
(b) Opposition of homogenisation
(¢) Promotion of diversities ) fafaecs ;
(d) Opposition of hierarchical (d) SAfepr ot fgurse foliy
dichotomies qaAiE -
Codes :
(A) (a) 3T (b)
(A) (a) and (b)
(B) &3 (a), (b) ST (c)
(B) (a), (b) and (c) only
C) e (b
(C) (b) only © ©
D) (@), B), (¢) and (d) D) (), (b), (c) O (d)
35. Synthetic approach recognizes that | 39 G gfeesh 3 AMHal i geed
all religions are .................... . g
(A) Philosophical (A) TqFas TR
(B) Source of worship and rituals (B) g emfur faefi= @id efea
(C) True and that diversity of (C) @R smfor edfafayar &1 frat fram
religions is a law of nature T R
(D) Equal
(D) 99 7]
17 [P.T.O.



36.

37.

38.

Who postulated the three stages of
social change i.e. ideological,

metaphysical and the positive ?
(A) Auguste Comte

(B) Bogardus

(C) Mooney

(D) Sorokin

‘Totalitarianism’ is a political system

in which :
(A) Absence of opposition
(B) Coalition government

(C) Complete and unrestricted

power in government
(D) Absolute majority government

The theory that motivation is the
function of intrinsic factors such as
appreciation and recognition was

propounded by :

(A) Herbert Simon
(B) Herbert Spencer
(C) Fredrick Herzberg

(D) Abraham Maslow

36.

37.

38.

APR-20217/11—B

graTieieh  IgATsaT-acaqTA IS,

feATfeeR STIOT Yeoret A1 e Tiedlet
H AT ?

(A) T HIE

(B) STTER

(C) i

(D) ERifeRd
e Rae/qaadae sSaaedg .

A) Teiger=n 199

(B) TeEYd IR

(C) HYUl qom Ao T o ST

HIh

(D) SgHATIA FHR

191 fagra sammed YN |1 w@nafaes g2
AT SAl—S 9 G9r T STfor 3fesl, &1

fagia o sheen R
(A) B HEHA
(B) & T
(C) el FEient

(D) 3T9TeH Haa

18



39.

40.

Right to Property is stated under
section of the
Constitution of India.

(A) Article 13, 14 and 15
(B) Article 60 and 65
(C) Article 19 and 20
(D) Article 19 and 31

Macroeconomics studies ................... .

39.

APR-20217/11—B
Ul GO H0GTET SThR. IRA ™
T I HAFI
fase Saen TR

(A) wetH 13, 14 1 15
(B) et 60 MU 65
(C) et 19 3T 20
(D) et 19 aor 31

) All aggregate indioatone and he 40. ?:f %W .......................... A
factors that influence the
economy (A) TR He R efon vesh o ared-
(B) Banking, finance and market AT TRITH HE
(C) Individuals, household and (B) ﬁaﬁﬂ’ e Aol RIS
firms—issues that affect (C) =erit, =) M0 o Ao e, S
economy ST IRUMH A
(D) Macro-finance (D) <reUq el
41. Perpretrators of child sexual abuse | 41. & @ifffeh TERER HIOMT=T] STGU-
ShOW oo, . T a0/ STTEavT=T TasiodT & 8 ¢
(@) Lack of impulse control (@) TEEER FEsOTE 9
b) Il?etizz{;lzlhaigsc interpersonal ®) - .
(¢) Mania (€) 3R
(d) Emotional blunting (d) wEfTe RS
Codes : Tehdieh :
(A) (a), (b) (A) (a), (b)
B) (6), () ®) ®), ©
A (©) (@), @), ()
D) (a), (b), (c), (d) D) @), ®), ©, d
19 [P.T.O.



42.

43.

The ex-alcoholic sharing his
experiences helps other addicts

remain sober. Social worker

working with such groups is
Wworking ........ccc.ee..e. .

(@) At meso level

(b) With self-help group

(c) At macro level

(d) With alcoholic anonymous
Codes

(A) (@), (b), (d)

B) (b)), (0

(C) (o), (d)

D) (®), (o), (d)

Assertion (A) : Stress may result
due to individual interactions with
environmental stimuli

Reason (R)
conditions force individual to
with
opportunities and outcome.

(A) Both (A) and (R) are true and

(R) is the correct explanation of

(A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

: Environmental

confront demands,

(B)

1s not correct

(C)
D)

(R) is true but (A) is not true
(A) is true but (R) is not true

42.

43.

APR-20217/11—B

HHTHE] TR TAT ToId =1 I HeA-
FHUAHS 3T FHAT SR AT
@A AT BRI ST T Hred i
0T TSI q')leji\q')d‘i\ .......................

LT T

(@) THEN el X

(b) @I TREIA T

(c) Hehl el o

(d) STehiElfcrsh SIS Hierd
Hehdich :

(A) (a), (b), (d)

(B) b), (o)

(C) (o), (d)

D) (), (o), (d)

faam (A) : SAERUTdId SEgehTei

SaferTeh  STaRfRames amor i 8.

HIUT (R) : ATATELodial offeerdt

et JrTua, e, fsut Fren |\

FHTAT 9N TTSd.

i

(A) =T (A) emfor (R) sRIsX Teq
T (R) § (A) 9 3Tgeh T
3R,

(B) Tl (A) =Tfor (R) sIsR 2Teq
TG (R) T (A) I TgH TIRIHI
Bl

(€) (R) ¥ s g (A) ® I 3
(D) (A) & TR 3E R (R) ¥ o &

20



44. Assertion (A) : Human Develop-

ment is result of human growth.

Reason (R) : Environment has
limited role to play in human
development as heredity decides
growth.

Choose the correct answer from the

codes given below :
Codes :
(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

Both (A) and (R) are true but
(R) 1 the
explanation of (A)

(B)

1s not correct

44
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faam™ (A) ; 9T T/ 81 A6t aeEn

TRy 279l

SHIUT (R) : STATEXOM=T HHeT faehrnd

TEffed iRl STHd, HRU A TR

fafeea 2.

TTell fooiean Sehdiehyd Id 9hid

IREEIE

Hehdich :

(A) T (A) 3T (R) &R R4
M (R) § (A) < ST T
3T

(B) <=t (A) 3Tfor (R) sIeR 2Ted

TG (R) T (A) I T TIRIHI
EIE]

(C) (A) is true but (R) is false (C) (A) B SR 31 99 (R) ® I 318
(D) Both (A) and (R) are false (D) =N (A) M (R) § <k 3Aed
45. Big five factors are : 45. ‘fomm wrEeg’ wew
(A) Openness, Conscientiousness, (A) g@m‘trn, forerentart, a‘[\gﬂ'@m, YT,
Extraversion, Agreeableness,
Neuroticism ?
(B) Openness; Conscientization, (B) TI9UN, WU SR, SfgHe,
extraversion, Acceptance, N o PSP
.. TTehdl, HAIShdl
Psychoticism
(C) Overtness, Coolness, Empathy (C) FeheqUT, IMAON, AT, FHeI,
Agreeableness Neuroticism oo
(D) Overtness, Coolness, )
Enthusiasm, Arrogance, (D) heHON, I, ST, 3,
Neuroticism EESICETl
21 [P.T.O.



46. Ten years after being a single child,

47.

Neha had to share parental love
with her baby brother. This was very
stressful for her. She started
indulging in “baby talk” and
behaving like a baby girl.

Neha’s behaviour indicates :
(A) Projection

(B) Regression

(C) Intellectualisation

(D) Denial

The student social worker placed in
an institution shared with her
supervisor that her client who was
extremely disturbed by an older boy
picked up a butcher’s knife from the
kitchen and hid it in the flush tank
of the toilet. The client planned to
kill the harasser at night. What
advise should the supervisor give to
the

(A)
(B)

student social worker ?
Keep the matter confidential

Inform the police as there is
possibility of heinous crime

(C) Meet the superintendent of the
institution along with the field
work supervisor and share the

matter with her

(D) Carry out both (B) and (C)

APR-20217/11—B

46. <TT I The A RUH @AM aTall

47.

= |ehadl eTeRie STeafear 4
St S 1 £ P | ) B S W S

NN

FATCAT. 0T <t TRl e sliere ol
o] ATt STl oRM HeATdREl an]
ANTeT. fo=n SrToaTen geiet e <t FEe

(A) &gl
(B) 3Tt
(C) SfgehienTo

(D) TR

TIIT HTH HIA STHATAT THTSIRTE
focaneatene HEAda ThT Ja |ifwdel
FH TN FIAIEREG Tk gl Aed
HESHr=A1 U=l 2ehid addel ST,
M Bes HITIAAT AHUHE W o Gl

SreAfaogrEl &=l fo=mR gl ® Uh

YRATTA GHSIRE faeaneaten <=
TddeTh HE Hooll SR 2

(A) wifgdt e Sael

(B) TR T[T TSUAT YRR STHATES
Qrefr e T | rTe

(C) focmneft enfor wdfaersr =1 et
e SffueteR Hed A #

(D) = (B) =7 (C)

22
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48. Which of the following is not a | 48. AT deh! Sh1vT Skl FearT shiefi= ol
technique of case work ? T ?
(A) Observation (A) STIARA
(B) Counselling (B) HHUSIH
(C) Interviewing (C) Harrerd
(D) Lobbying (D) TEHR W (AfET)
49. Who is the author of the book | 49 ‘faaf9ss guifaga’ = gmeQ
‘Clinical Supervision’ ? @S HO 2
(A) Morris Cogan (A) Tig wrH
(B) Mary Burns (B) 70 o=
(C) Bertha Reynold (C) 9t Hies
(D) Sidney Eisenberg (D) fa=a gt
50. Assertion (A) : Catharsis results in | 50. f&em (A) : wEArA fat=mmes g:fF=m,
release of anxiety or tension which AUIHF(THS RAAT=a1 HTAdqerdra
leads to improved functioning of the UM B
client. .
' . HRUT (R) : A1 for=amed fa=m,
Reason. R) : C'athars1s consists of Sfieft, H\qqﬂwmam I e
expression of ideas, fears, past c. . - -
. . TegaYeRe AYTE BIa STE.
significant events and associations.
Codes : Hehdien :
(A) Both (A) and (R) are true and (A) T (A) SO (R) SR Sred SAfor
(R) is the correct explanation of (R) § (A) 3 3Tk TILERIU e
(A) (B) =l (A) 3fur (R) s 3A18d
(B) Both (A) and (R) are true but T (R) B (A) T Tk TIHRL
(R) is not the correct EIEl
explanation of (A) .
(C) (A) T =R 318 T (R) ¥ TH 3T
(C) (A) is true but (R) is false . s . .
D) A R) § sRIsX
(D) (A) is false but (R) is true ( AR g
23 [P.T.O.
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ROUGH WORK
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